PRA-ctice )

1. (40 points total.) Find an antiderivative for each of the following functions. Show the work
you did to find the answer. CHECK YOUR ANSWERS!
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2. (30 points total.)
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(a) Consider the following integral 7 = / te! dt. Evaluate T
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(b) Using the substitution u = €’ (and ¢ = In(u)) convert Z into J = / ) In(u) du
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(c) Evaluate J = le In(u) du. What is the relationship between the values 7 and J? (IsZ > 7,
I < JorZI=J)? Explain your answer.
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3. (80 points) Complete the following table of derivatives and anti-derivatives. P, @), R and
S are (known) constants. You should use the space on the other side of this page to

check your answers
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